
Fesenco A. A. The problem of the stationary heat-conduction for the semi-

infinite layer. The exact solution of the stationary heat-conduction problem for the semi-

infinite layer was constructed. The lower and lateral faces of the layer are heat-insulated.

The temperature is given at the upper face of the layer and is distributed through the known

area. The initial problem is reduced to the one-dimensional boundary problem with the help

of the integral Fourier transformation. The solution of this problem is constructed in the

explicit form. The multiply integrals with the oscillation function are obtained after invers-

ing of the integral transformation. For their calculation the special method based on the

Sonin’s formula using is proposed. The numerical analysis was done for the investigation of

the temperature distribution in the layer depending on the area parameters of the initial

temperature.

Key words: layer, thermal conductivity, the integral transformations, the cylindrical func-

tion.
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